Soustraction (C)

Calculez la différence.

h686 4429 25 701 9 7058 1712 421 3425 7315
-3555 - 92 - 9 - 7 - 4 - 28 — 1 -39 — 210 —_ 4
4411 703 4025 96 719 4153 456 789 327 §
- 5 -8 — 3 — 48 —_25 — 866 —_15 — 13 — 76 —__ 3
98 7213 7166 69 44 1564 5682 5885  Hl45  HT4Y
— 53 —85 — 60 — 56 — 1 — 49 — 96 — 3713 — 29 — 1
8212 293 3948 9 7692 3470 627 582 94 531
-297% —_ 19 -0 —_ 6 —308 -9 — 313 — 106 —_ 9 —_ 6
1926 632 900 5492 68 8 538 4310 949 5956
- 9 — 35 —53 — 8 —_ 57 —_ 5 —_ 8 —_128 — 795 —_879
907 23 768 27 7287 6 7117 8173 2375 504

- 7 -7 -3 -2 - 7 -6 —_39 —366 —_ 34 —_091
88 213 e 3002 7310 970 878 93 3602 6967

- 3 — 20 — 1 =53 —_ 6 —_16 —_ 74 — 9 — 455 —_564
62006 A4 381 672 590 80 5329 828 7811 79
- 2 -9 — 1 -2 — 419 - 3 —528 — 471 —1755 —_ 4
7280 3147 § 524 3576 24 362 5994 119 4136
—-1229 - &8¢ — 1 — 8§ — 7 —_ 5 — 54 — 6 —115 — 3

9026 9222 6483 6586 10 9918 785 84 891 9764
- 30 —-4149 -—-—-&4 - 31 -9 -712 — 9 — 2 — 87 — 90
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